
NAT I Computer Science Computer

Sr Questions Answers Choice

1 DBMS must include a
A. Micro processor
B. DML processor
C. Interpreted
D. Compiler

2 DBA defines
A. Errors
B. Security
C. Information
D. Objects

3 IDE is a (an)
A. Hardware
B. Interface
C. Sofware
D. Administrator

4 DBA is a
A. Programmar
B. Database user
C. Database manager
D. Client

5 How many components are present in data base?
A. Two
B. Three
C. Four
D. FIve

6 Create command is used to create a
A. Table
B. View
C. Report
D. Query

7 Insert command is used to insert
A. A new table
B. A new record
C. A view
D. Dependencies

8 Integrity of data means data is
A. Efficient
B. Redundant
C. Correct
D. Complete

9 Which of the following does not support the data in data base management system
A. Standard
B. Redundant
C. Complete
D. Integrated

10 With database data is in
A. Standard form
B. Unnormalize form
C. Complete
D. Integrated


